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Section 2.1 - Derivatives and Rates of Change

r4 We find the slope of the tangent line to f at P,
which can be thought of as the slope of the curve
at the point P.
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|1] Definition The tangent line to the curve y = f(x)
at the point P(a, f(a)) is the line through P with slope
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Find the slope of the tangent line to
fix)=4/xata=1.
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Point-slope form for a line through the
point (xi, y;) with slope m:

y — y1 = m(x — x1)
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I didn't meant to leave the a as a letter, but it's actually better that way, and the book takes too

stinking long to come out and say it.
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When we zoom WAY IN on that point, we see that the curve
looks pretty straight. We're basically looking at a very short
segment of a curve.

"Smooth Curves Are Locally Linear."

The tangent line at a is pretty close to the function in the
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If I stay close to x = 1, the function's pretty close
\ to the tangent line. We often will use the "tangent
v line approximation" because it's more efficient
\ than f, itself.
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Find an equation of the tangent line to y = sqrt(x) at x = 2.
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